Worm gears reducers

WGMX Series

Powerful, efficient and flexible...

Technical catalogue

Vya0

EHectricl




Quality management and certificates

{ Ja \N 4
| l/ﬁ’ O, , O}
) [ é}w‘ . » 4
\- 0l M
- ‘ )
\ g i And 1y :

VYBO Electric is a modern High-tech energy saving company that pays high attention to quality,
environment, safety and precision and efficiency of work and energy in production. Therefore, it holds a
lot of certificates and quality control systems. Our priority is quality control.

Basic certificates include:

ISOS001

The primary task of the ISO S001 standard is to focus on system
management and quality management in the organization. The
satisfaction of the customer and the fulfillment of his requirements,
which are specified in contracts, orders, or technical drawings, are in the
first place. The quality management system is linked to all processes in
the company. The standard focuses on the management of human and
financial resources, on the stability of infrastructure, including buildings,
transport, hardware, software and other communication or information
technologies. An important part is also the planning of production and
services, the management of the purchasing process, but also the
management of non-conforming products.

1SO 9001

1SO14001

The main priority of the ISO 14001 standard is to identify and
understand the environmental aspects and activities that are related to
the entire infrastructure of the company and, based on this, to regulate ikl
the environmental impact on the environment.

In its scope, the ISO 14001 standard creates the conditions for
determining environmental goals and plans, the fulfillment of which is
examined at regular intervals by top management and also by an
independent body during internal audits.

This standard is intended for all organizations and companies that
consider environmental protection as their primary goal.

The benefit of the standard for society is mainly:

- control over the environmental impact on the environment

- control over produced emissions and waste

- saving material and energy

- prevention of accidents

- compliance of the company's activities with legal requirements
- zero fines for environmental behavior

- creation of a good reputation and prestige of the company

1S0 14001




The ISO 45001

Specification (formerly known as OHSAS 180017 is an
internationally recognized standard that declares compliance with
the principles of a safe enterprise, managing risks at work and
protecting the health of workers during work. It does not only
concern danger and accidents, but also emphasizes other aspects
such as the good condition and mental well-being of the employee.

The certificate is held in Slovakia as STN ISO 45001:2019 and is
under the title Management systems of safety and health
protection at work. Requirements with guidance for use. It replaces
the STN OHSAS 180011 standard.

ISO50001

Energy management systems Energy efficiency help organizations
save money, save energy resources and also help to prevent
climate change. ISO 500071 encourages organizations in all sectors
to use energy more efficiently through the development of an
energy management system. The international standard ISO
50001 2011 specifies the requirements for building, maintaining
and improving the energy system. It aims to enable organizations to
implement a systematic approach that will help achieve lasting
improvements in energy efficiency, energy use and consumption.

1S0 45001

BUREAU VERITAS
Certification




VY30

Versions (, INDUSTRIAL

@ GEARS

WXR

PARTS NOTES

09 10 11 12

08 30 31 30

Vya0

HectricT




Code

200
INDUSTRIAL
i GEARS

WGMX Worm reducer with input flange
i NWGMX Worm reducer with input shaft
Series Code
PWGMX Worm reducer with WF
WXR Combination of worm reducer
025 Frame size 25
030 Frame size 30
040 Frame size 40
050 Frame size 50
063 Frame size 63
075 Frame size 75
090 Frame size 90
110 Frame size 110
130 Frame size 130
150 Frame size 150
030/040 WXR combination frame spec.
030/050 WXR combination frame spec.
030/063 WXR combination frame spec.
040/075 WXR combination frame spec.
Frame Size 040/090 WXR combination frame spec.
050/110 WXR combination frame spec.
063/130 WXR combination frame spec.
063/040 PWGMX frame (WFO63+WGMX040)
063/050 PWGMX frame (WFO63+WGMX050)
063/063 PWGMX frame (WFO63+WGMX063)
071/050 PWGMX frame (WFO71+WGMX050)
071/063 PWGMX frame (WFO71+WGMX063)
071/075 PWGMX frame (WFO71+WGMXQ075)
071/090 PWGMX frame (WFO71+WGMX030)
080/075 PWGMX frame (WFO80+WGMXQ75)
080/090 PWGMX frame (WFO80+WGMX0930)
080/110 PWGMX frame (WFO80+WGMX110)
080/130 PWGMX frame (WFO80+WGMX130)
090/110 PWGMX frame (WFOS0+WGMX110)
090/130 PWGMX frame (WFOS0+WGMX130)
5,75,10,15, 20, 25, 30, 40, 50, 60, 80, 100 Ratio of WGMX and NWGMW (i = 5~100)
7258,75,79.3,90, 951, 96.8, 120, 121, 126.8,
) 145.2,150, 158.5, 180, 190.2, 193.6, 240, 242, Ratio of PWGMX (i = 72.6~317)
Speed Ratio

2538, 300, 317

100, 150, 200, 250, 300, 400, 500, 600, 750,
900, 1200, 1500, 1800, 2400, 3000, 3200

Ratio of WXR (i = 100~3200)

Extension Worm Shaft E Extension Worm Shaft
SS Worm wheel with single output shaft
Output Shaft
P DS Worm wheel with double output shaft
Output Flange F Configure short output flange
FL Configure long outuput flange
Torque Arm A Configure torque arm
Motor x x B5, xxB14 Frame size & structure of motor
) . B3, B6, B7, B8 Mounting position in horizon
Mounting position - — -
VS, V6 Mounting position in vertical

Y30

HectricT




VY30

Product notes (., INDUSTRIAL
@ GEARS
BASIC PARAMETER
1/0 STRUCTURE | APPLICATION CONFIGURE
| [ |
SERIES | | FRAME |_| TRANSMISSION / WORM WHEEL / OUTPUT / TORQUE / POWER OF | | INSTALL
CODE SIZE RATIO OUTPUT SHAFT FLANGE ARM MOTOR POSITION

E.G. WGMXO063-40E/F1/SZ/71B5/B3
WGMX063-30/DZ/A1/B3
PWGMX071/063-126,8/E/SZ/71B14/B3
DWGMX030/063-1200/63B5/B3

NOTE:

1. The basic parameter must be marked.

2. If there is no code for i/o structure, it means that the reducer is without i/o struction.

3. For PCRW and DRW series products, there is a"/" between the fraze size of input stage
and, the frame size of output stage.

Vya0

HectricT




VY30

Design features P T

@ GEARS

-High quality die casting aluminum alloy housing, suitable for universal mounting.

GENERAL INTRODUCTION
Structure features

-Heat sink design for cooling provides great surface area and higher thermal capacity than
the casting ironhousings.

-025 to 150, with power scope from 60w to15 kw.

-Larger speed ratio range. each single frame size has 12 ratios from 5:1 to 100:1.

-Hardened worm with fine grinding has the features of higher efficiency and big output torque.
-Low noise and stably running, can adapt long term work condition in terrible environments.
-Light weight, high mechanical strength.

-Modularization combination PWGNX & DWGMX extend the ration of RW reducers from
i=5:1 to 3200: 1.

MAIN MATERIALS

-Housing: die-cast aluminum alloy (frame size: 025 up to 90 );

cast iron (frame size: 110 to 150 )

-Worm: 20Cr steel, carburization and nitriding treatment (the hardness of tooth is HRC60
and the thickness of harden . Layer is over 0.5mm after precise grinding).

-Worm wheel: special wearable nickel bronze alloy

PAINT

-Aluminum alloy housing:

1shot blasting and special antiseptic treatment on the aluminum alloy surface
2 after phosphating, coated with blue RAL5010 baking finished.

-Cast-iron housing: painted with RAL5010 blue baking finished.

EFFICIENCY
Efficiency is a very important parameter that lies on the design and fabrication of the

worm and worm wheel s. there a re two different friction features when reducer is running or static,
so the efficiency of the reducers have dynamic efficiency and static efficiency.

1. dynamic efficiency nd the transmission efficiency of reducer under operating (dynamic friction)
2. static efficiency ns the transmission efficiency of reducer when it is static (static friction).

As the static friction coefficient is bigger than dynamic friction coefficient so that the dynamic
efficiency is over the static efficiency, i.e. nd > ns

Vya0

EHectric?




VY30

Design features P T

@ GEARS
TRANSMISSION REVERSIBILITY

The process to apply the torque on the output side (worm wheel) of reducer to drive the input

side (worm shaft) is reversible transmission of reducer. The characteristic expressed in this
reversible transmission process is the transmission reversibility of reducer. We must pay attention
to this point during operation.

The transmission reversibility of reducer is relevant to the efficiency of reducer. The transmission
reversibility of reducer is described as below:

ns<0.5: static force irreversibility: when the reducer is standstill, it is impossible to drive the input
worm shaft by applying a torque on the output worm wheel. Reversible transmission is self-locked.

ns =0.5-0.55: weak static force reversibility. When the reducer is standstill, it is possible to drive the
input worm shaft by applying a torque on the output worm wheel. But self-locking is weak.

ns >0.5: static reversibility. when the reducer is standstill, it is possible to drive the in put worm
shaft by applying a torque on the output worm wheel . Reversible transmission cannot selflock.

nd <0.5: dynamic force irreversibility, during the operation of the reducer, if we relieve the force
from input shalt, the output shaft will stop right away.

nd <0.5-0.6: weak dynamic force reversibility. During the operation of the reducer, if we relieve
the force from input shaft, the output shaft will stop after a while.

nd >0.6: dynamic force reversibility: during the operation of the reducer, if we relieve the force
from input shaft, the output shaft will not stop by self-locking.

Vya0

EHectric?




Tooth and modular configuration

)00

Ir' INDUSTRIAL
GEARS
RW i 5 75 10 15 20 25 30 40 50 60 80 100
m 1,25 125 1,25 125 1 / 1,25 1 0,8 065 / /
Z1 6 4 3 2 2 / 1 1 1 1 / /
025 Y 30°58'  21°48' 16°42' 11°19' 10°53' / 5°43' 5°29' 4°34' 3°23' / /
nd 0,865 0,839 0,815 0,769 0,753 / 0,638 0624 0,583 0,517 / /
ns 0,716 0,701 0,667 0,594 0,562 / 0438 0413 0,362 0,320 / /
m 15 15 15 15 1 1,75 15 1 09 0,75 0,55 /
Z1 6 4 3 2 2 1 1 1 1 1 1 /
030 Y 29°3' 20°19' 15°37 10°29" 5°42' 6°10'5°17'2°52' 3°26' 2°52' 1°58' /
nd 0874 0,856 0,829 0,782 0673 0,700 0667 0,520 0,567 0,520 0422 /
ns 0,723 0675 0,637 0,559 0461 0442 0,400 0,308 0,319 0,275 0,221 /
m 2 2 2 2 16 1,25 2 16 1,25 1 0,8 0,65
Z1 6 4 3 2 2 2 1 1 1 1 1 1
040 Y 30°58'  21°48' 16°42' 11°19' 11°19'8°8'5°43' 5°43'4°5'2°52' 2°52' 2°29'
nd 0,886 0,862 0,839 0,805 0,792 0,738 0675 0,668 0,604 0,541 0,513 0477
ns 0,737 0,703 0661 0,589 0,559 0,502 0434 041 0,351 0,284 0,276 0,243
m 2,5 2,5 2,5 2,5 2 16 2,5 2 1,6 125 1 0,8
Z1 6 4 3 2 2 2 1 1 1 1 1 1
050 Y 30°58 21°48' 16°42' 11°19' 11°19'9°5'5°43' 5°43' 4°27' 2°52' 2°52'2°17'
nd 0,887 0,874 0,852 0,808 0,805 0,771 0,71 0,693 0634 0,532 0,530 0483
ns 0,737 0,695 0654 0,581 0,561 0,517 0434 0403 0,352 0,289 0,270 0,227
m / 3,25 3,25 3,25 25 2 3,25 2,5 2 16 1,25 1
Z1 / 4 3 2 2 2 1 1 1 1 1 i
063 Y / 24°37 18°53' 12°57 11°19' 8°45' 6°30' 5°43' 4°24'3°3'2°52" 2°12'
nd / 0,880 0,870 0,830 0,820 0,780 0,740 0,716 0,660 0,571 0,562 0486
ns / 0,710 0,670 0,600 0,557 0,510 0450 0409 0,360 0,304 0,276 0,229
m / 4 4 4 3 25 4 3 2,5 2 16 1,25
Z1 / 4 & 2 2 2 1 1 1 1 1 1
075 Y / 28°4' 21°48' 14°56' 11°19' 11°19' 7°36' 5°43' 5°43' 3°49' 4°27 2°52'
nd / 0912 0,904 0,876 0,850 0,848 0,810 0,770 0,769 0,695 0,719 0,626
ns / 0,712 0,683 0614 0,570 0,542 0,466 0420 0,395 0,342 0,316 0,267
m / 5 5 5 375 3 5 3,75 3 2,5 19 15
Z1 / 4 3 2 2 2 1 1 1 1 1 1
090 Y / 33°41  26°34"  18°26' 14°02' 11°19' 9°28' 7°08' 5°43' 4°46' 3°53' 2°52'
nd / 0,805 0,898 0,873 0,849 0,824 0,804 0,765 0,727 0,690 0,638 0572
ns / 0,734 0,706 0,650 0,606 0,563 0,505 0459 0414 0,380 0,342 0,271
m / 5.9 ac 59 46 375 58 46 &7/5 &b 24 19
Z1 / 4 3 2 2 2 1 1 1 1 1 1
110 Y / 28°46'  22°22' 15°27" 14°20' 14°02' 7°497°17'7°08' 5°48' 4°54' SR
nd / 0,901 0,891 0,862 0,848 0,851 0,793 0,776 0,768 0,729 0692 0628
ns / 0,721 0691 0631 0618 0,598 0482 0478 0451 0415 0,372 0,319
m / 7 7 7 54 44 7 54 44 375 2,75 2,25
Z1 / 4 3 2 2 2 1 1 1 1 1 1
130 Y / 29°15' 22°47 15°39' 13°47' 12°24' 7°58' 7°00'6°17'6°07" 3°56' 3°471
nd / 091 0,891 0,872 0,860 0,845 0,803 0,779 0,758 0,749 0671 0657
ns / 0,721 0,691 0631 0610 0,583 0492 0,460 0435 0,406 0,335 0,308
m / 54 6,16 54 6,16 S 4.2 6,16 S 4,2 315 2,5
Z1 / 6 4 S 2 2 2 1 1 1 1 1
150 Y / 29°37' 24°47 15°52' 12°56' 11°19' 9°56' 6°34' 5°43' 5°00' 3°45'2°52
nd / 091 0,901 0,881 0,858 0,851 0,832 0,776 0,778 0,738 0,701 0,638
ns / 0,731 071 0,661 0,599 0,577 0,542 0448 043 0,394 0,340 0,289

nd - dynamic efficiency; S - static efficiency; m - modulus; Z1 - number of teeth; r -helical angle; i - ratio

Y30

HectricT




Basic models of WGMX and NWGMX (., Ilugkg

GEARS

Basic type reducer WGMX: the power was inputted from the worm shaft, then ouput drive from the
hole shaft of worm wheel after speed reduction. The input flange of reducer can be matched with
the flange of motor. Output flange can be installed for the connection of reducer. The transmission
central distance(mm) of worm and worm wheel is just the frame size. Each size of reducer has
been precise designed for following rations: i=5,7.5,10,15,20,25,30,40,50,60,80,100.

Basic WGMX series reducer can realize modular combination easily:

1. combined with the pre-stage helical modular as WF and worm gear reducer:
PWGMX (= WF + WGMX)

2. combination of two single WGMX reducers as double worm gear reducer:
WXR (= WGMX + WGMX)

Vya0

HectricT




Space relations of basic type '{lu’?ﬂg
WGMX and NWGMX fé}

e

PWGMX - combination of pre-stage helical modular
PC and WGMX

PWGMX = WF + WGMX

WGMX worm gear reducer can be combined with pre-stage helical modular (WF)

as a gear and worm reducer (PWGMX). The ratio of PWGMX is the product of
the ratios of WF and WGMX. Through this combination, the ratio scope of V)'B 0
Hectric

WGMX basic types can be extended from i=72.6 to i=317.




Space relations of PWGMX

Pre-stage helical modular WF

The output connection P2 of pre-stage helical gear module is compatible to the input flange

of WGMX reducer. Therefore it can be pre-combined with WGMX reducer easily. The input
connection P1 is designed to match with flange of B5 type motors. P2 is defigned for B14 type
of motor; P1 is designed for BS type of motor. Nominal frame size of pc is same as motor frame

size matched with P1.

INDUSTRIAL
i GEARS

VY30

4-S
jPsmmp
| [ R~ Ff§_
Q= = QI —— :B I
1 :% —®
T N ﬁ
L S
Type i D (ke) N (j6) M P2 S T L P
PC0O63 3 11(14) 70 85 105 M6 3 23 63B5
PCO71 3 14 (19) 80 100 120 M6 3 30 71B5
PC0OS0 3 19 (24/28) 110 130 160 YE 3 40 80B5
PC090 243  24(19/28) 110 130 160 M8 3 50 90B5

Vya0

HectricT




PWGMX = WF + WGMX
Possible connection

€0

200
INDUSTRIAL
GEARS

PC0O63 PCO71 PC080

PC0S0

WE i=3 i=3 i=3

63B14 71B14 71B14 80B14 80B14

WGMX

100B14

80B14

i=2.43
100B14

25 . °

30

40

040 50

60

80

100

25

30

40

050 50

60

80

100

25

30

40

063 50

60

80

ojojoejojo|—|~|~|o|oe|e|oe|e]|e |—|—]|~]|~|°]|e°

~|~I~|~I~|~|~|o|~|~|~|~|~|~|o|o|e|eo]|e|e

100

25

30

40

Q75 50

60

80

100

25

30

40

090 50

60

80

o|jo|ojo|o|jo|o|eo|jeo|jeo|jeo|jeoje]|je || -|e|oe|je]|e]je | —|~|~]|~|~|°]|°

~|~I~I~I~I~I~|~I~I~I~|~I~]|~|o|o|e|eo e || ~|~|o|eo|e|o|e|e

100

25

30

40

10 50

60

80

100

~N|~I~|~|~|~|~|o|o|eo|eo|eo|eo|eo 0|00 |eo|eo|e]|e

ojojoejoejoejojoe || ~I~|~I~I~1I~I>~I>~]I>~1>~]>~1>]~

25

30

40

130 50

60

80

100

~|~I>~1>~I>~1>~1>~1>~1>~1>~1>~1>~1>~1~

o|ojoe|ojoejoeje|—|e|je|e]je|e |-

Note: ¢ means possible combination; / means the combination is unallowed or not recommended

HectricT

Y30




VY30
(é”””se’;’i’é‘s‘

WXR - Double WGMX combination
WXR = WGM + WGM

WGMX reducers can be combined as a double reducers combination (WXR). The ratio of WXR is
just the product of the first stage WGMX's ratio and the second stage WGMX's ratio. So the ratio
can be extended to i=300-3200.

WXR is not only simply combination of two WGMX reducers. The reasonably combination should
make two reducers operating at same condition. Therefore the frame size of the second stage
reducer should be bigger than the first stage reducer.

Vya0

HectricT




VY30

WXR Possible connection (, INDUSTRIAL

@ GEARS

i, 040 050 063 075 090 110 130
iq 25 30 40 30 40 S50 40 S50 60 30 40 S0 40 50 60 30 40 S0 30 40 SO

75
10
15
20
030 25
30
50
60
80

S B By B BN ™) BNy D N
~|o|o]jojoe o |—~—]O |-
ojo |~ ]| ~]|~]|~]° |~
~|o|ojo oo | —]|o |~
~|lOo | ~]O® | ~]|~|~]° |~
~|O® |~~~ ~]|~|~]° |~
~|o|~]o|~|~|]°e|e°

~|Oo |~ | ~|~|]e]eo |-
~|I 1]l | ~|~]® | ~|~

75
10
15
20
25
30
50
60
10
15
25
30
50
60
10
15
25
30
50
60
Note: ¢ means possible combination; / means the combination is unallowed or not recommended

Space relation of WXR

040

ojojojoe|oe|~—~]0 |~
| ~10 | ~]|~]|~]0 |~
@ |~~~ ~]|~|° |~
|~ |~]|~]o]o |-
~|<Jeo|—|—]eo ||

oI ~Jo|~|~|]oe|eo|e

050

ojo|jojo|—|eo
@ | ~|~|~|~]e°

o|~|o|~|o|e

063

ojo|jojoe|—|eo
o|~|o|~|o|e
@ | ~|~|~]|~]e°

Vya0

HectricT




VY30

WGMX Mounting positions 5 INDUSTRIAL

@ GEARS

B3 B& VS

PWGMX Mounting positions

B3 B8 VS
o o < <;
o[ : o— [ SOy :
g ——" =T e
g
B6 B7 Ve -
s

Vya0

HectricT




I/)'B O
INDUSTRIAL
i GEARS

WXR Mounting positions

A1 AS2 BST

@z 5© 2

L [ =

)
190
©

190

i L]

Structure configuration

According to requirement, RW reducers can be with foIIowin%:; parts; extension worm
shaft (E), output flange (F, FL), torque arm (A), output shaft of worm (SS, DS).

The configuration position and type code number of structure shown as in following
charts:

Positions of motor terminal box  Extension input of worm shaft (E)

ET; ::T:w
L

E
&

Vya0

HectricT




VY30

Output flange (F, FL) P
F1, FLT F2, FL2 __

=
o
I

I —

Vya0

HectricT




\4

- Vy30

Lubrication (., INDUSTRIAL
@ GEARS

Lubrication volume for RW is related with mounting position of reducer.

All stock of RW reducers are filled with WA 320 lubrication according to B3 mounting

position. For 110 and 130 reducers. If the mounting position is different from B3, a special
indication is required.

Lubrication volume (liter)

RW 030 040 050 063 075 090 10 130 150
B3
B  qoos 018 028 036 075 18 25 375 6.2
B6,B7
V5, V6

Lubrication volume of WF helical gear modular

Lubrication of WF helical reduction modular is apart from lubrication of reducers. Lubrication
and the volume is irrespective with the mounting positions of WF.

WEF helical reduction modular is filled with lubrication WA680 before shipment

PC063 PCO71 PC080 PC0S0
018 0.28 0.31 0.31

Recommended lubrication

For domestic market 6("/4‘ WA320/WAB80
WM! TELIUM VSF MELIANA OIL 320/680

For export reducers

Mobil MOBILGEAR 320/680 GLYGOYLE

Vya0

HectricT




WGMX power conf

(n,=1400r/min)

guration

200
INDUSTRIAL
GEARS

WGMX S 75

10

15

20 25

30

40 50 60 80 100

025 60W

NO

S0wW

NO

60W

030 90w

120W

180W

60W . .

S0W ° .

120W

040 180W

250W

370W

550w

120W ° .

180W ° .

050 250W

370W

S50W

750W

250W

370W

063 S550W

750W

1100W

1500W

550W

750W

1100W

Q75 1500W

2200W

3000W

4000W

750W

1100W

090 1500W

2200W

3000W

4000W

1100W

1500W

2200W

10 3000W

4000W

5500W

7500W

1500W

2200W

130 3000W

4000W

5500W

7500W

2200W

3000W

4000W

150 5500W

7500W

([ EENENENE]

S XXX X XXX XX X XXX X XX X XX XX XXX XX XXX XXX XXX X
L]

11000W

15000W

>

Note: ¢ means allowed but not recommended configurations, space parts means unallowed configurations, X means no this ratio

Y30

HectricT




"D
WGMX performance parameter Ilusazg
(n,=1400r/min)

KW TYPE i n,(r/min) M,(N.M) KW TYPE i n,(r/min) M,(N.M]
WGMX025 5 280 177 WGMX040 30 47 166
WGMX025 75 187 2,58 WGMX030 170
WGMX025 10 140 334 WGMX040 40 35 219
WGMX025 15 93 472 WGMX050 227
WGMX025 20 70 616 WGMX030 232
WGMX025 30 47 7,83 WGMX040 50 28 247
WGMX025 40 35 10,21 012Kw WGMX050 26,0
WGMX025 50 28 1193 WGMX040 60 o4 253
WGMX025 60 23 12,69 WGMX050 26,2
WGMX030 5 280 18 WGMX040 80 18 336
WGMX030 75 186 26 WGMX050 347

0.06KW WGMX030 10 140 34 WGMX040 100 14 390
WGMX030 15 94 48 WGMX050 396
WGMX030 20 70 55 WGMX030 5 280 54
WGMX030 25 56 72 WGMX040 54
WGMX030 30 47 8.2 WGMX030 75 186 79
WGMX030 40 35 85 WGMX040 79
WGMX030 =0 o8 16 WGMX030 10 140 10,2
WGMX040 124 WGMX040 10,3
WGMX030 50 o4 1238 WGMX030 15 o4 144
WGMX040 126 WGMX040 1438
WGMX030 80 18 138 WGMX030 20 70 16,5
WGMX040 16,8 WGMX040 19,5
WGMX040 100 14 195 018KW WGMX030 o5 5 215
WGMX025 5 280 265 WGMX040 227
WGMX025 75 187 3,36 WGMX030 30 47 246
WGMX025 10 140 500 WGMX040 249
WGMX025 15 93 708 WGMX040 40 a5 328
WGMX025 20 70 9,24 WGMX050 34,0
WGMX025 30 47 1138 WGMX040 50 o8 371
WGMX025 40 35 153 WGMX050 390
WGMX030 5 280 27 WGMX040 60 o4 379
WGMX030 75 186 40 WGMX050 39,2
WGMX030 10 140 51 WGMX050 80 18 52,1

0.09KwW WGMX030 15 94 72 WGMX050 100 14 59,3
WGMX030 20 70 83 WGMX040 5 530 76
WGMX030 25 56 107 WGMX050 76
WGMX030 30 47 123 WGMX040 75 186 110
WGMX030 40 35 128 WGMX050 112
WGMX030 50 o8 174 WGMX040 0 140 14,3
WGMX040 186 WGMX050 14,5
WGMX030 60 o4 19,2 WGMX040 15 94 206
WGMX040 190 WGMX050 207
WGMX040 80 18 252 WGMX040 20 70 270
WGMX040 100 14 293 WGMX050 275
WGMX030 5 280 36 0.25Kw WGMX040 o5 56 315
WGMX040 35 WGMX050 328
WGMX030 75 186 53 WGMX040 30 47 346
WGMX040 53 WGMX050 364
WGMX030 10 140 63 WGMX040 40 a5 456
WGMX040 89 WGMX050 473

012KwW WGMX030 5 94 96 WGMX050 50 28 54,
WGMX040 99 WGMX050 60 24 545
WGMX030 20 70 110 WGMX050 30 18 724
WGMX040 130 WGMX063 76,7
WGMX030 o5 56 14,3 WGMX063 100 14 82,3
WGMX040 151 0.37KW WGMX040 s 280 112
WGMX030 30 47 164 WGMX050 1.2

Y30

HectricT




"D
WGMX performance parameter Ilusezg
(n,=1400r/min)

KW TYPE i n,{r/min) M_(N.M) Kw TYPE i n(r/min) M,(N.M)
WGMX040 75 186 16,30 WGMX075 50 o8 196,8
WGMX050 16,60 WGMX090 186,1
WGMX040 10 140 2120 075KW WGMX075 60 o4 2134
WGMX050 10 140 2150 WGMX090 2119
WGMX040 5 94 30,50 WGMX090 80 18 2611
WGMX050 30,60 WGMX090 100 14 2927
WGMX040 20 70 40,00 WGMX063 75 188 496
WGMX050 4070 WGMX075 514
WGMX040 25 56 46,60 WGMX063 0 140 65,3

0.37KW WGMX050 487 WGMX075 678
WGMX040 20 47 512 WGMX063 15 94 935
WGMX050 538 WGMX075 986
WGMX050 40 as 670 WGMX063 20 70 1232
WGMX063 723 WGMX075 1277
WGMX050 50 o8 8011 WGMX063 o5 56 1464
WGMX063 833 1IKW WGMX075 159,2
WGMX050 60 24 806 WGMX063 30 47 1667
WGMX063 60 24 86,5 WGMX075 1825
WGMX063 80 18 1135 WGMX075 40 35 2314
WGMX063 100 14 1226 WGMX090 40 35 2297
WGMX040 5 280 16,6 WGMX090 50 28 2729
WGMX050 167 WGMX090 60 o4 3108
WGMX040 75 186 243 WGMX110 319,1
WGMX050 246 WGMX110 80 18 4033
WGMX040 10 140 3150 WGMX110 100 14 4712
WGMX050 32,00 WGMX063 75 188 676
WGMX040 45,30 WGMX075 ' 70,1
WGMX050 15 94 45,50 WGMX063 10 140 891
WGMX063 46,70 WGMX075 925
WGMX050 20 70 60,5 WGMX063 5 94 1275
WGMX063 616 WGMX075 1345

0.55KW WGMX050 o5 56 723 WGMX063 20 70 1679
WGMX063 732 WGMX075 174,1
WGMX050 30 47 800 WGMX075 o5 6 2171
WGMX063 833 15KW WGMX090 2110
WGMX050 1040 ' WGMX075 20 47 2483
WGMX063 40 35 1075 WGMX090 2471
WGMX075 1157 WGMX090 40 35 3133
WGMX050 50 g 1239 WGMX090 50 o8 37211
WGMXO063 1443 WGMX110 3929
WGMX063 60 o4 1286 WGMX090 60 o4 4238
WGMX075 156,5 WGMX110 4351
WGMX075 80 18 215,8 WGMX110 80 18 5507
WGMX075 100 14 2350 WGMX130 5340
WGMX050 5 280 227 WGMX130 100 14 6722
WGMX050 336 WGMX075 102,8

MRS 75 186 — 555 MO — Do
WGMX063 338 WGMX090 75 186 1019
WGMX050 100 140 436 WGMX110 10138
WGMX063 445 WGMX075 1357
WGMX050 15 94 62,0 WGMX090 10 140 134,8

075KW WGMX063 637 WGMX110 1337
WGMX050 20 70 824 22KW WGMX075 1973
WGMX063 84,0 WGMX090 15 94 1967
WGMX063 25 56 99,3 WGMX110 1927
WGMX063 30 47 1136 WGMX090 20 70 2549
WGMX075 1244 WGMX110 2545
WGMX063 40 a5 1466 WGMX090 o5 56 3095
WGMX075 1578 WGMX110 3192

Y30

HectricT




WGMX performance parameter

)00

INDUSTRIAL
. (‘ GEARS
(n,=1400r/min)

KW TYPE i n,(r/min) M,(N.M] KW TYPE i n{r/min) M,N.M)
WGMX030 30 47 3624 WGMX110 5804
WGMX110 3545 WGMX130 25 56 5764
WGMX110 40 35 4658 WGMX150 5804
WGMX110 576,2 WGMX110 644,5
WGMX130 50 28 5687 WGMX130 30 47 6526
WGMX150 5837 WGMX150 6810

22KW  WGMX110 6381 40KW - wGMX130 20 35 8501
WGMX130 60 24 6556 WGMX150 846,9
WGMX150 664,5 WGMX130 50 o8 1034,0
WGMX130 80 18 7831 WGMX150 10613
WGMX150 8415 WGMX130 60 o4 1192,0
WGMX130 100 14 9859 WGMX150 12081
WGMX150 9574 WGMX150 80 18 1530,0
WGMX075 1401 WGMX110 75 186 2544
WGMX090 75 186 1390 WGMX130 2572
WGMX110 1388 WGMX110 10 140 3343
WGMX075 1850 WGMX130 3343
WGMX090 10 140 1838 WGMX110 15 94 4816
WGMX110 1823 WGMX130 4872
WGMX075 2690 WGMX110 636,2
WGMX090 15 94 268,22 WGMX130 20 70 645,22
WGMX110 2627 S5, 5KW WGMX150 6437
WGMX0S0 20 70 3477 WGMX130 o5 58 7925
WGMX110 3470 WGMX150 7981
WGMX090 o5 56 4220 WGMX130 30 47 8973

3.0KW WGMX110 4353 WGMX150 9364
WGMX030 30 47 49411 WGMX130 40 35 1168,9
WGMX110 4833 WGMX150 11644
WGMX110 635,1 WGMX150 50 28 14593
WGMX130 40 35 6376 WGMX150 60 23 16617
WGMX150 6351 WGMX110 75 186 3469
WGMX110 7858 WGMX130 3508
WGMX130 50 28 7755 WGMX110 10 140 4558
WGMX150 796,0 WGMX130 4558
WGMX130 60 o4 894,0 WGMX130 15 94 664,3
WGMX150 9061 7.5KW WGMX130 20 70 8799
WGMX150 80 18 11475 WGMX150 8707
WGMX150 100 14 1305,5 WGMX130 o5 . 10807
WGMX075 186,8 WGMX150 1064,0
WGMX090 75 186 185,3 WGMX150 30 47 1190,9
WGMX110 185,0 WGMX150 40 35 1592,0
WGMX130 1871 WGMX150 75 187 5126
WGMX090 2451 WGMX150 10 140 676,0
WGMX110 10 140 2431 TIKW WGMX150 15 94 9915

4.0KW WGMX130 24311 WGMX150 20 70 12875
WGMX090 3577 WGMX150 25 56 1596,2
WGMX110 15 94 3503 WGMX150 75 187 699,0
WGMX130 3543 15KW WGMX150 10 140 9218
WGMX090 4635 WGMX150 15 94 1352,0
WGMX110 20 70 4627 WGMX150 20 70 17557
WGMX130 4693

Y30

EHectric?




PWGMX power configuration
(n,=1400r/min)

VY30

INDUSTRIAL
i @ GEARS

WF + WGMX irw o5 20 0 - -

PWGMX063/040 (ir.=3) 012KwW
0,18KW

PWGMX063/050 (ipe=3)  —odohW
0,18KW

PWGMX063/063 lipc=3)  —20erW
0,18KW
PWGMX071/050 lip.=3) 025KW
PWGMX071/063 (ipc=3) 0.25KW
0.37KW
PWGMX071/075 (ipc=3) 0.25KW
0.37KW
PWGMX071/090 (ipc=3) BT
PWGMX080/075 (ipc=3) 0.55KW
0.75KW
PWGMX080/090 (jpo=3) —222KW
0.75KW
PWGMX080/110 (ipc=3) 0.55KW
0.75KW
PWGMX080/130 (ipc=3) 0.55KW
0.75KW

PWGMX090/110 (ipc=3) 1IKW
15KW

PWGMX090/130 (ipc=3) 1TKW
1.5KW

Vya0

EHectric?




"D
PWGMX performance parameter Ilusagzg
(n,=1400r/min)

Kw WF+WGMX i n,  MINM) iq i KW WF+WGMX i n,  MINM) iq i
PWGMX063/040 75 187 430 3 25 PWGMX080/090 90 156 2579 3 30
PWGMX063/040 90 156 472 3 30 PWGMX080/075 120 M7 3293 3 40
PWGMX063/040 120 117 62,3 3 40 PWGMX080/090 120 M7 3272 3 40
PWGMX063/040 455 g3 704 3 50 PWGMX080/075 155 g3 4117 3 50
PWGMX063/050 739 3 50 PWGMX080/090 3886 3 50
PWGMX063/040 .99 75 __ 719 3 60  OS5KW pweMX080/090 .95 g _ 4426 3 60

012KW ~ pWGMX063/050 ' 74,5 3 60 PWGMX080/110 ' 4676 3 60
PWGMX063/040 957 3 80 PWGMX080/090 545 s5g 5457 3 80
PWGMX063/050 240 58 98,9 3 80 PWGMX080/110 ' 5919 3 80
PWGMX063/063 104,9 3 80 PWGMX080/110_ 590 47 6714 3 100
PWGMX063/040 1113 3 100 PWGMX080/130 7024 3 100
PWGMX063/050 300 47 1127 3 100 PWGMX080/075 309/1 3 25
PWGMX063/063 1134 3 100 PWGMX080/090 75 187 3003 3 25
PWGMX063/040 ;5  4g7 64,6 3 25 PWGMX080/110 3102 3 25
PWGMX063/050 674 3 25 PWGMX080/075 3543 3 30
PWGMX063/040 g3 456 709 3 30 PWGMX080/090 90 156 3517 3 30
PWGMX063/050 746 3 30 PWGMX080/110 3468 3 30
PWGMX063/040 155 117 935 3 40 PWGMX080/090 155 197 __ 446/ 3 40
PWGMX063/050 ' 370 3 40 0,75KW ~pwGMX080/110 ' 4525 3 40

o1gKkw _PWGMX063/050 155 g3 1109 3 50 PWGMX080/090 159 g3 _ 5300 3 50
PWGMX063/063 15,5 3 50 PWGMX080/110 559,8 3 50
PWGMX063/050 135 73 M7 3 60 PWGMX080/030 459 78 6036 3 60
PWGMX063/063 119,9 3 60 PWGMX080/110 6377 3 60
PWGMX063/050 549 58 1484 3 80 PWGMX080/110_ 549 58 8071 3 80
PWGMX063/063 1573 3 80 PWGMX080/130 7826 3 80
PWGMX063/050 399 47 169,0 3 100 PWGMX080/130 300 47 9579 3 100
PWGMX063/063 1701 3 100 PWGMX0S0/110_ 759 4gp _ 4104 243 30
PWGMX071/050 ;5  4g7 99,0 3 25 PWGMX090/130 4155 243 30
PWGMX071/063 100,2 3 25 PWGMX0S0/T10 75 144 _ 5354 243 40
PWGMX071/050 g5  45g __10S5 3 30 PWGMX090/130 5375 243 40
PWGMX071/063 114,0 3 30 PWGMX0S0/110_ 4pq5 115 _ 6624 243 SO
PWGMX071/050 159 117 1423 3 40 1IKW PWGMX090/130 6537 243 50
PWGMX071/063 1471 3 40 PWGMX0S0/110_ 1458 g6 7545 243 60

025Kkw _PWGMX071/063 159 g3 169,5 3 50 PWGMX090/130 7752 243 60
PWGMX071/075 1974 3 50 PWGMX0S0/110_ 1944 72 9549 243 80
PWGMX071/063 459 79 1759 3 60 PWGMX090/130 9259 243 80
PWGMX071/075 214, 3 60 PWGMX090/130 243 58 11333 243 100
PWGMX071/063 5,9 s5g _ 2308 3 80 PWGMX090/110_ 75 qgp _ 5596 243 30
PWGMX071/075 2954 3 80 PWGMX090/130 5666 243 30
PWGMX071/063 35 47 __2496 3 100 PWGMX0S0/110_ g75 444 _ 7301 243 40
PWGMX071/075 3215 3 100 PWGMX090/130 7329 243 40
PWGMX071/063 75 197 _ 1483 3 25 TSKW PWGMX0S0/110 1515 115 _ 9032 243 SO
PWGMX071/075 161,2 3 25 PWGMX090/130 8915 243 50
PWGMX071/063 g 456 __1687 3 30 PWGMX0S0/110_ 1458 gg _ 10288 243 60
PWGMX071/075 1847 3 30 PWGMX090/130 10570 243 60
PWGMX071/063 159 417 2177 3 40 PWGMX090/130 1944 72 12626 243 80

037KW _PWEMX071/075 2341 3 40
PWGMX071/063 459 g3 __ 2508 3 50
PWGMX071/075 2922 3 50
PWGMX071/075 155 7g 3169 3 60
PWGMX071/090 3146 3 60
PWGMX071/090 240 58 3879 3 80
PWGMX071/090 300 4,7 4347 3 100

055kw _PWGMX080/075 75 187 2267 3 25 )vao
PWGMX080/075 90 156 2593 3 30

HectricT




WXR power configuration
(n,=1400r/min)

VY30
(é}’”””seﬁ’i’é‘s‘

WGMX + WGMX

i=ipxi,

300

400

500

600

750

900

1200

1500

1800 2400 3000 3200

WXR030/040

0,06KW

0,0SKW

WXR030/050

0,06KW

0,09KW

012KW

018KW

WXR030/063

0,06KW

0,0SKW

012KW

018KW

WXR040/075

0,06KW

0,0SKW

0 12KW

018KW

0.25KW

0.37KW

WXR040/090

0.0SKW

012KW

018KW

0.25KW

0.37KW

WXR0S50/110

0, 12KW

018KW

0.25KW

0.37KW

0.55KW

0.75KW

WXR063/130

0.25KW

0.37KW

0.55KW

0.75KW

1IKW

1.5KW

Note: Space parts means unallowed configurations

Vya0

HectricT




"D
WXR performance parameter Ilusazg
(n,=1400r/mir) 65!

Kw WGMX+WGMX i Ny MANM) i KW WGMX+WGMX i Nogmm MoNM i
WXR030/040 300 47 687 10 30 WXR040/075 750 19 5504 25 30
WXR030/040 400 35 907 10 40 WXR040/090 900 16 5997 30 30
WXR030/040 500 28 1016 20 25 01gkw __WXR040/080 1200 12 7608 30 40
WXR030/040 600 23 1115 20 30 WXR040/090 1500 09 9037 30 50
WXR030/040 750 19 1450 25 30 WXR050/110 1800 08 9323 60 30
WXR030/040  ggg 1 1658 30 30 WXR050/110 2400 06 12164 60 40
WXR030/050 1747 30 30 WXR040/075 300 47 3476 10 30
WXR030/040 4599 12 2188 30 40 WXR040/075 400 35 4406 10 40
WXR030/050 2270 30 40 WXR040/075 500 28 5501 10 50
WXR030/040 2349 50 30 WXR040/090 600 23 6391 15 40
WXR030/050 1500 08 2475 50 30 WXR040/090 750 19 7907 15 50

0712kw __WXRO30/063 2702 30 50 025KW  wWxR040/090 900 16 9006 15 60
WXR030/040 2586 60 30 WXR050/110 1200 12 11290 30 40
WXR030/050 1800 08 2723 60 30 WXR050/110 1500 09 12859 50 30
WXR030/063 2806 30 60 WXR050/110 1800 08 12949 60 30
WXR030/040 3412 60 40 WXR063/130 2400 06 18203 60 40
WXRO30/050 5409 g _ 3539 60 40 WXR063/130 3000 05 22141 60 50
WXR030/063 3657 60 40 WXR040/075  3q9 47 5145 10 30
WXR040/075 3887 60 40 WXR040/090 4993 75 40
WXR030/040 3856 60 50 WXR040/090 400 35 6479 10 40
WXRO30/050 3909 (5 _ 4048 60 SO WXR040/090 500 28 7697 10 50
WXR030/063 4214 60 50 037kw __WXR040/080 600 23 9325 15 40
WXR040/075 4853 60 50 WXR050/110 750 19 11572 25 30
WXR030/040 3200 04 3692 80 40 WXR050/110 900 16 12806 30 30
WXR030/040 300 47 1031 10 30 WXR063/130 1200 12 17412 40 30
WXR030/050 400 35 1411 10 40 WXR063/130 1500 08 20062 50 30
WXR030/050 500 28 1613 10 50 WXR063/130 1800 08 20828 60 30
WXR030/050 600 23 1762 20 30 WXR050/110 300 47 7604 10 30
WXR030/050 750 19 2291 25 30 WXR050/110 400 35 9921 10 40

00SKW ~ wWxR030/063 900 16 2727 30 30 0,55KW __WXRO50/110 500 28 12273 10 50
WXR030/063 1200 12 3518 30 40 WXR050/110 600 23 1413 15 40
WXR040/075 1500 09 4505 50 30 WXR050/110 750 19 17202 25 30
WXR040/075 1800 08 4600 60 30 WXR063/130 1200 16 25950 30 40
WXR040/090 2400 06 5793 60 40 WXR050/110 300 47 103639 10 30
WXR040/090 3000 05 6882 60 50 WXR050/110 400 35 13529 10 40
WXR030/050 300 47 1447 10 30 075Kw __WXROB3/130 500 28 16867 10 S0
WXR030/050 400 35 1881 10 40 WXR063/130 600 23 19845 15 40
WXR030/063 500 28 2239 10 50 WXR063/130 750 19 24030 25 30
WXR030/063 600 23 2750 15 40 WXR063/130 900 16 27358 30 30
WXR030/063 750 19 3168 15 50 19KW WXR063/130 300 47 15725 10 30

012Kkw __WXR040/075 900 16 4028 30 30 WXR063/130 400 35 20339 10 40
WXR030/063 4599 12 4691 30 40 15KW  WXR0B63/130 300 47 21443 10 30
WXR040/075 5105 30 40
WXR040/090 1500 09 6025 30 50
WXR040/090 1800 08 6862 30 60
WXR040/090 2400 06 7724 60 40
WXR050/110 3000 05 10032 60 50
WXR030/050 300 47 2171 10 30

01gKkw __WXR030/063 400 35 2915 10 40

WXR030/063 500 28 3359 10 &0
WXR040/075 600 23 4726 20 30

Vya0

HectricT




Allowed radial loading force on output Ilug:g
shaft of reducer (N) €

i n, RW0O30 RwW040 RW0OS0 RW0O63 RWO75  RWOSO RW110 RW130 RW150
5 280 599 1149 1586 2062 2428 2687 3389 4433 —
75 186 691 1325 1829 2378 2799 3098 3908 5112 6962
10 140 758 1454 2007 2609 3072 3400 4288 5610 7663
15 94 868 1665 2298 2988 3518 3893 4910 6424 8777
20 70 954 1829 2525 3283 3865 4277 5395 7057 9654
25 56 1033 1981 2735 3556 4187 4633 5844 7645 10400
30 47 1088 2087 2881 3745 4410 4880 6155 8052 11051
40 35 1204 2309 3188 4145 4880 5401 6812 8912 12163
50 28 1296 2485 3431 4461 5252 5812 7331 9590 13103
60 24 1381 2649 3658 4756 5598 6196 7815 10224 13924
80 18 1516 2907 4014 5218 6144 6799 8576 11219 15325
100 14 1638 3142 4338 5639 6639 7348 9268 12124 16508

-Above table is the allowed loading force on the midpoint of output shaft.

-When the reducer is with double output shafts, the resultant radial power at the edge of
shaft should not exceed the values specified as in above table.

-The max allowed axial thrust is 1/5 of radial force while the radial force and axial force
effected together.

Vya0

HectricT




Motor connection for WGMX reducer (, INDUSTRIAL

)00

GEARS

I I
= O/ N\ il s
02 9
©) ©)
© ©)
H NE& &)/
= ® 5
[
WGMX  PAM IEC 5 75 10 15 20 25 30 40 50 60 80 100
BS5 B4 B5 B14 B5 B4
025 56B14 - 5 - B85 - 8 9 9 9 9 9 - 9 9 9 9 - -
030 56B5/B14 80 50 100 65 120 80 9 9 9 9 9 9 9 9 9 9 9 -
63B5/B14 95 60 15 75 140 9% M M M1 1M M M M 11 N - -
56B5/B14 80 50 100 65 120 80 - - - - - - - - 9 9 9 9
040 63B5/B14 85 60 115 75 140 9°€ 1 T MM MM MM M 1M MM M M 1 N
71B5/B14 10 70 130 85 160 105 14 14 14 14 14 14 14 14 - - - -
63B5/B14 95 60 15 75 140 90 - - - - - - - M Mmoo M M
050 71B5/B14 7710 70 130 85 160 105 14 14 14 14 14 14 14 14 14 14 14 -
80B5/B14 130 80 165 100 200 120 19 19 19 19 19 19 19 19 - - - -
71B5/B14 M0 70 130 85 160 105 - - - - - - - 14 14 14 14 14
063 goB5/B14 130 80 165 100 200 720 - 19 19 19 19 19 19 19 19 19 19 19
90B5/B14 130 95 165 115 200 138 - 24 24 24 24 24 - - - - - -
71B5 M0 - 130 - 160 - - - - - - - - - 14 14 14 14
80B5/B14 130 80 165 100 200 120 - - - - - - 19 19 19 19 19 19
075 90B5/B14 130 95 165 115 200 138 - 24 24 24 24 24 24 24 - - - -
100B5/B14 180 110 215 130 250 160 - 28 28 28 - - - - - - - -
12B5/B14 180 110 215 130 250 160 - 28 - - - - - - - - - -
80B5/B14 130 80 165 100 200 120 - - - - - - - - 19 19 19 19
ogo 90B5/B14 130 95 165 115 200 138 - - - - - 24 24 24 24 24 - -
100B5/B14 180 110 215 130 250 160 - 28 28 28 28 28 28 - - - - -
12B5/B14 180 110 215 130 250 160 - 28 28 28 28 - - - - - - -
90B5/B14 130 - 165 - 200 - - - - - - - - - 24 24 24 24
1o JooBs 180 - 215 - 250 - - 28 28 28 28 28 28 28 28 28 - -
112B5 180 - 215 - 250 - - 28 28 28 28 28 28 - - - - -
132B5 230 - 265 - 300 - - 38 338 38 38 - - - - - - -
90B5 130 - 11B5 - 200 - - - - - - - - - - - 24 24
130 .100BS 180 - 215 - 250 - - - - - - - - 28 28 28 28 28
112B5 180 - 215 - 250 - - 28 28 28 28 28 28 28 28 28 - -
132B5 230 - 265 - 300 - - 38 38 338 38 38 338 38 - - - -
100/112B5 180 - 215 - 250 - - 28 28 28 28
150  132B5 230 - 265 - 300 - - - - - 38 38 38 38 38 38 - -
160B5 250 - 300 - 350 - - 42 42 42 42 42 - - - - - -

Y30

EHectric?




WGMX025 dimensions

B cro

vvvvvvv

88888
44444

35
T
45
T I AT]
M

@

HectricT

Vya0




WGMX dimensions

VY30

(é} GEARS

O X L1
‘A H1, H1
LM
H
1 x| /4 %)
6/; T e ] B > Z| o @Q}%J
) | -
Tk - isis R
i &f IS s[> B
PE F
C C1
D G
S S 5
[ i& -+ ﬂ%
L1
WGMX A B C C1  DH7) Eh8) G H H1 | L1 M N 0
030 80 97 54 44 14 55 56 65 29 55 63 40 57 30
040 100 1215 70 60 18(19) 60 71 75 365 70 78 50 715 40
063 120 144 80 70  25/24 70 85 85 435 80 92 60 84 50
075 144 174 100 85 25(28) 80 103 95 53 95 12 72 102 63
090 172 205 120 90 28(35) 95 12 15 57 125 120 86 19 75
M0 206 238 140 100 35(38) 110 130 130 67 1295 140 103 135 90
130 255 295 170 15 42 130 144 165 74 160 155 1275 1675 110
130 293 335 200 120 45 180 155 215 81 179 170 1465 1875 130
150 340 400 240 145 50 180 185 215 96 210 200 170 230 150
WGMX P Q R S T Vv PE b t a Kg.
030 75 44 65 21 55 27 M6x11(n=4) 5 6.3 0° 12
040 87 55 65 26 6.5 35 M6Ex8[n=4] 6 20.8[21.8) 45° 23
050 100 64 85 30 7 40 M8x10[n=4) 8 283273 45° 38
063 110 80 85 36 8 50 M8x14{n=8] 8 28.3(313] 450 6.2
075 140 93 1 40 10 60 M8x14[n=8] 8(10) 31.3(38.3) 45° 9
090 160 102 13 45 1 70 M10x18[n=8) 10 38.3[413] 45° 13
110 200 125 14 50 14 85 M10x18(n=8) 12 45.3 45° 425
130 250 140 16 60 15 100 M12x21(n=8) 14 48.8 45° 59
150 250 180 18 725 18 120 M12x21(n=8) 14 538 45° 87

NQOTE: Weight (Kg): without the weight of motor

Vya0

EHectric?




NWGMX dimensions

€0

VY30

INDUSTRIAL

@ GEARS

L1
M J Ko bl H1  HA
—— - =i
] Tj S Wk
; = 2 of o TPEA—
m m i
2 [ Ll
i ] Il
a
C1
—— S . b :
ST HT
g T
L1
NWGMX A B C C1 DH7) EMH8) F G H H1 J K U M N 0 P
030 80 97 54 44 14 55 32 56 65 29 51 20 63 40 57 30 75
040 100 1215 70 60 18(19) 60 43 71 75 365 60 23 78 50 715 40 87
063 120 144 80 70 25(4) 70 49 85 85 435 74 30 92 60 84 50 100
075 144 174 100 85 25(28) 80 67 103 95 53 90 40 12 72 102 63 10
090 172 205 120 90 28(35) 95 72 12 M5 57 105 50 120 8 M9 75 140
110 206 238 140 100 35(38) 10 74 130 130 67 125 50 140 103 135 90 160
130 255 295 170 M5 42 130 - 144 165 74 142 60 155 1275 1675 110 200
130 293 335 200 120 45 180 - 155 215 81 162 80 170 1465 1875 130 250
150 340 400 240 145 50 180 - 185 215 96 195 80 200 170 230 150 250
NWGMX Q R S T v PE b b1 t 4 m o  Kg
030 44 65 21 55 27 MBx11(n=4) 5 3 16,3 10,2 - 0° 12
040 55 65 26 65 35 M6x8(n=4) 6 4 20,8(21,8) 12,5 - 450 23
050 64 85 30 7 40 M8x10(n=4) 8 5 28,3(27,3) 160 M6 45 38
063 80 85 36 8 50 M8x14(n=8) 8 6 28,3(31,3) 215 M6 45 62
075 93 M 40 10 60 M8x14(n=8) 8(10) 8 311(38,3) 270 M8 45 9
030 102 13 45 11 70 M10x18(n=8) 10 8 38,3(41,3) 270 M8 45° 13
110 125 14 50 14 85 M10x18(n=8) 12 8 453 310 MI0 45° 425
130 140 16 60 15 100 M12x21(n=8) 14 8 488 330 M10 45° 59
150 180 18 725 18 120 M12x21(n=8) 14 10 538 380 M12 45° 87

NOTE: Weight (Kg): without the weight of motor

Vya0

HectricT




- VY30
PWGMX dimensions INDUSTRIAL
(n

GEARS

o7 Z\o| | o
> m .
— = >
c S
P S b
A L1
SN\ N
S - <D
L1
PWGMX A B C C1 DH7) EMHS8) F G H H1 | L L1 M N 0 P

063/040 100 1215 70 60 18(19) 60 43 71 75 365 123 40 78 50 715 40 87
063/050 120 144 80 70 25(4) 70 49 85 85 435 133 40 92 60 84 50 100
071/050 120 144 80 70 25(4) 70 49 85 85 435 143 50 92 60 84 50 100
063/063 144 174 100 85 25(@28) 80 67 103 95 53 148 40 M2 72 102 63 110
)
)

071/063 144 174 100 85 25(@8) 80 67 103 95 53 158 50 M2 72 102 63 110
071/075 1772 205 120 90 28(35 95 72 12 15 57 176 50 120 86 M8 75 140
080/075 172 205 120 90 28(35 95 72 M2 M5 57 186 63 120 86 M8 75 140
071/080 206 238 140 100 35(38) 110 74 130 130 67 193 50 140 103 135 90 160
080/090 206 238 140 100 35(38) 110 74 130 130 67 203 63 140 103 135 90 7160

080(090)/1M0 255 295 170 15 42 130 - 144 165 74 233 63 155 1275 1675 110 200
080(090)/130 293 335 200 120 45 180 - 155 215 81 253 63 170 1475 1875 130 250
PWGMX Q R S T % PE b t o Kg

063/040 55 65 26 65 35 M6x8(n=4) 6 208(218) 45° 39

063/050 64 85 30 7 40 M8x10(n=4) 8  283(273) 45° 52

071/050 64 85 30 7 40 M8x10(n=4) 8  283(273) 45° 58

063/063 80 85 36 8 50 M8x14(n=8) 8 283(313) 45° 79

071/063 80 85 36 8 50 M8x14(n=8) 8 283313 45° 85

071/075 93 M 40 10 60 M8x14(n=8) 8  313(383) 45° 113

080/075 93 M 40 10 60 M8x14(n=8)  8(10) 313(383) 45° 13/

071/090 102 13 45 M 70 M10x18(n=8) 10  383413) 45° 153

080/090 102 13 45 M 70 M10x18(n=8) 10  383@413) 45° 172

080(090)/1M0 125 14 50 14 85 M10x18(n=8) 12 453 45° 390
080(090)/130 140 16 60 15 100 M12x21(n=8) 14 488 45° 522

NOTE: Weight (Kg): without the weight of motor V
Y30

HectricT




)00

WXR dimensions INDUSTRIAL

(é} GEARS

K. J .
|

X |
H2 L - M I
‘ C ‘ Al
Sl ;s A== o
ol [ izl Wy OI
= =i= e m > —
gy w1t
O Q
g 3 = .
2R
F
= C1
G
H1 LHW
L1
WXR A Al B C C1 D1H7) DI(j6) EMH8) F G H H1 H2 | J K L L1 M M1 N

030/040 100 80 1215 70 60 18(19) 9 60 43 71 75 385 29 123 51 20 120 78 50 40 715
030/050 120 80 144 80 70 25(24) 9 70 49 85 85 435 29 133 51 20 130 S92 60 40 84
030/063 144 80 174 100 85 25(28) 9 80 67 103 95 53 29 148 51 20 145 112 72 40 102
040/075 172 100 205 120 90 28(35) M 95 72 M2 M5 57 365 176 60 23 165 120 86 50 119
040/090 206 100 238 140 100 35(38) 11 170 74 130 130 67 365 193 60 23 182 140 103 50 135

050/1M0 255 120 295 170 115 42 14 130 - 144 165 74 435 233 74 30 225 155 1275 60 1675
063/130 293 144 335 200 120 45 19 180 - 156 215 81 53 253 90 40 245 170 1465 72 1875
WXR N1 0 01 P Q R S T \ PE o b b1 t 11 m Kg
030/040 57 40 30 87 55 6.5 26 65 35 M6x8(n=4) 45° 6(6) 3 208(218 102 - 39
030/050 57 50 30 100 64 85 30 7 40 M8x10(n=4) 45° 8(8) 3 283(273) 102 - 50
030/063 57 63 30 10 80 85 36 8 50 M8x14(n=8) 45° 8(8) 3 283(313) 102 - 78
040/075 715 75 40 140 93 L 40 10 60 M8x14(n=8) 45° 8(10) 4 313383 125 - 120
040/080 715 S0 40 160 102 13 45 m 70 M10x18(n=8) 45° 10 4 383413) 125 - 160
050/110 84 110 50 200 125 14 S0 14 85 M10x18(n=8) 45° 12 5 453 160 M6 392
063/130 102 130 63 250 140 16 60 15 100 M12x21(n=8) 45° 14 6 483 215 M6 550

NOTE: Weight (Kg): without the weight of motor
Y30

HectricT




00
Output flange dimensions Ilusmm

GEARS

PA

O PC
g g Wj’
- : z
|
=
— 1
030 040 050 063 075 090 110 130 150
PA 545 67 90 82 M M 139 140 155
PB 6 7 9 10 13 13 15 15 15
PC 4 4 5 6 6 6 6 6 6
PN 50 60 70 15 130 152 170 180 180
FA PM 68 75 85 150 165 175 230 255 255
PO 6.5(n=4) 9(n=4) 11(n=4) 1M(n=4) 14(n=4) 14(n=4) 14(n=8) 16(n=8) 16(n=8)
PP 80 110 125 180 200 210 280 320 320
PQ 70 95 110 142 170 200 260 290 290
o 45° 45° 45° 45° 45° 45° 45° 45° 22,5°
PA - 97 120 112 - 122 - - -
PB - 7 9 10 - 18 - - -
PC - 4 5 6 - 6 - - -
PN - 60 70 115 - 180 - - -
FB PM - 75 85 150 - 215 - - -
PO - 9(n=4) 11(n=4) Tl(n=4) - 14(n=4) - - -
PP - 110 125 180 - 250 - - -
PQ - 95 110 142 - - - - -
o1 - 45° 45° 45° - 45° - - -
PA - 80 89 98 - 110 - - -
PB - 9 10 10 - 17 - - -
PC - 5 5 5 - 6 - - -
FC PN - 95 110 130 - 130 - - -
PM - 15 130 165 - 165 - - -
PO - 9.5(n=4) 9.5(n=4) 1 (n=4) - 1M(n=4) - - -
PP - 140 160 200 - 200 - - -
o - 45° 45° 45° - 45° - - -
PA - 58 72 - - 151 - - -
PB - 12 14,5 - - 13 - - -
PC - 5 5 - - 6 - - -
o PN - 80 95 - - 152 - - -
PM - 100 115 - - 175 - - -
PO - 9(n=4) 11(n=4) - - 14(n=4) - - -
PP - 120 140 - - 210 - - -
o1 - 45° 45° - - 45° - - -
PA - - - 805 - - - - -
PB - - - 165 - - - - -
PC - - - 5 - - - - -
FE PN - - - 110 - - - - -
PM - - - 130 - - - - -
PO - - - T1(n=4) - - - - -
PP - - - 160 - - - - -
o - - - 45° - - - - -

NOTE: Weight (Kg): without the weight of motor

Y30

EHectric?




- )o0
Dimensions (., INDUSTRIAL

GEARS

Extension worm shaft (E) dimensions

J d(j6) K m b1 tl
030 45 9 20 - 3 10,2
040 53 " 23 - 4 12,5
050 64 14 30 M6 S 16
063 75 19 40 M6 6 215
075 90 24 50 M8 8 27
090 108 24 50 M8 8 27
110 135 28 60 M10 8 31
130 155 30 80 M10 8 33
150 175 35 80 M12 10 38
Output shaft (SS, DS) dimensions
L1 T
%WL T c d (he) T T L1 z Z1 m b1 t1
. - 025 1 23 255 50 81 101 - 4 12,5
— e B o 030 14 30 325 63 102 128 M6 5 16
ZJJH_A‘ 040 18 40 43 78 128 164 M6 6 20,5
/ 050 25 50 535 92 153 199 M10 8 28
063 25 50 535 12 173 219 M10 8 28
11 [N T b 075 28 60 635 120 192 247 M10 8 31
T T £ - 090 35 80 845 140 234 309 M12 10 38
110 42 80 845 155 249 324 M6 12 45
: } o 130 45 80 85 170 265 340 M16 14 48,5
150 50 82 87 200 297 374 M6 14 535
Z1
Torque arm (A) dimensions
L H K R B
025 70 14 175 8 15 4
030 85 14 24 8 15 4
= - 040 100 14 315 10 18 4
- 050 100 14 385 10 18 4
063 150 14 49 10 18 6
075 200 25 475 20 30 6
— 090 200 25 575 20 30 6
110 250 30 62 25 35 6
130 250 30 69 25 35 6
/§> 150 250 30 84 25 35 8

)00

HectricT




VY30

Part photos s INDUSTRIAL

@ GEARS

Output flange (F)
WGMX...-F1 NWGMX..-F1
WGMX...-F2 NWGMX..-F2
Torque arm (A)
WGMX...-A1 NWGMX...-A1

WGMX...-A2

Vya0

HectricT




VY30

Part photos s INDUSTRIAL

@ GEARS

Extension worm shaft (E)

WGMX..-E NWGMX..-E

WGMX...

WGMX...

WGMX... NWGMX..-DS

Vya0

HectricT




VY30

Reducer selection s INDUSTRIAL

@ GEARS

To select reducer, we must consider the practical working conditions of reducer.
Influence factors like load types of reducer (A, B, C), daﬂgworkmg hours and
startup frequency [tme/hour?wﬂl all influence the workmg of reducer. We synthe
size those factors into a calculation coefficient for model selection-service
coefficient (K), in order to make a correct selection of reducer.

Service coefficient (K) of reducer

Service coefficient (K) selecting chart:

Daily work time (h)

K curve for different load type
24 16 8 2

234 204 184 16

224 194 174 15

/
214 184 164 14 C —
204 174 154 13 — — -
[
194 164 144 12 — B
—
184 154 134 11 RN = —
—
174 144 124 1 — | A
I —
164 134 114 09 ——— —
[ —
154 124 1 4 08—
K (service coefficient 510 20 30 40 50 60 70 80 90 100

Start up frequency (times/h)

A, B, C are load types.

--Ais proportion load.

--B is medium impact load (M max. <=1,5 times of rated torque);

--C is heavy impact load (M max> 1,5 times of rated torque) also the ambient
temperature should be taken into consideration properly. If the ambient
temperature changes, the selected service coefficient (k) should be adjusted as
followings:

--Ambient temperature is 30/40°C: K x 1,1~1,2

--Ambient temperature is 40/50°C: K x 1,3~1,4

--Ambient temperature is 50/60°C: K x 1,5~1,6

--If the ambient temperature >60°C; please contact our technical service team.

Vya0

Hectric




Model Configuration Table

)00

INDUSTRIAL
GEARS
RV KW/4P 5 75 10 15 20 25 30 40 50 60 80 100
025 006 62 42 35 25 2 NO 16 13 09 07
0,09 41 28 24 16 13 NO 11 09
0,06 10,2 63 54 38 3 3 26 18 16 13 09
030 0,09 6,3 46 36 26 2 2 16 12 1 09
012 5,1 34 27 19 15 15 13 09 08
018 34 23 18 13 1 1 08
0,06 3 26 18 16
0,09 2 17 13 1
012 g2 73 55 37 28 25 26 19 15 13 09 08
040 018 6.2 49 37 25 2 17 17 13 1 038
0,25 45 36 28 19 15 12 13 09
0,37 3 24 19 13 09 08 08
0,55 2 16 12 08
012 35 28 23 19 14
018 23 19 16 12 09
050 0,25 81 63 48 36 27 22 23 17 14 11 09
0,37 55 43 33 25 18 15 15 11 09 08
0,55 37 29 22 16 12 1 1 08
075 27 21 16 12 09
0,25 24 2 16 14
0,37 21 16 14 11 09
063 0,55 3 22 18 19 14 11 09
075 38 3 22 16 13 14 1
11 26 2 15 11 09 09
15 19 15 171 08
0,55 2 16 14 11 09
075 2 2 15 12 1
11 36 3 21 17 13 13 1
075 15 28 22 15 13 1 1
22 18 15 1
3 14 11 08
4 1
075 18 15 11 09
11 16 13 1
090 15 21 16 17 12 09 08
22 29 23 19 14 11 12
3 271 17 14 1 08 09
4 16 13 1 08
11 2/ 17 12 1
15 19 16 13 09
22 48 38 3 22 19 18 13 11 09
10 3 35 28 22 16 14 13 1 08
4 26 21 16 12 1 1
55 19 16 12 09
75 14 11 09
15 15 11
22 22 17 14 1 08
130 3 22 21 16 13 1
4 39 34 26 19 16 16 12 1 08
55 28 25 19 14 12 12 09
75 21 18 14 1 09 08
22 25 19 14 1
3 25 18 14 1 08
4 22 18 18 14 11 08
150 55 2 15 13 13 1 08
75 15 11 1 1
11 23 18 13 1 08
15 17 13 09 07

Hectric

Y30




Gear Reducer Selection Method

VY30

INDUSTRIAL
i@ GEARS

. shaft input WGMX -
Ratio of | 5<i<100. | WGMX or | load type Caloul ]
transmission NWGMX alculate the
NWGMX needed
. output torque
726<i<317 PWGMX > (M2req) of the
reducer
shaft input Input stage | | aChcolrlejg th
300<i<3200 [\ o] load type WGMX ttheeszas o
Input stage
NWGMX H

Decide K according to the K
| curve and adjust it as per
ambient temperature

Adjust the output torque

M2=M2reqxK

Initially selection of
the reducer type by

referring to the
parameter in the
sheet on pages

21-26 and the value

of M2

Calculate the input
power (mating motor
power) P1=M2xoutput
rotation speed n2

Select the type of the reducer
and its mounting from:
according to P1,iand M2,
reffering to the performance
parameter on 21-26 and

pages 15-16.

Check the load of

the output shaft. If

the radial load is
needed on the
output shaft of
the reducer,
should check the
force applied on
the output shaft
according to the
radial force in the
catalog on page

Vya0

HectricT




VY30

Notice for order (, INDUSTRIAL

@ GEARS

The purchaser should provide us the following information when he
want to order our VYBO Electric reducers:

1. Basic parameters of reducer (including series codes, frame sizes
and ratios);

2. Types and mounting positions of matched motors (B5 or B14);

3. Mounting position of reducer;

4. Input/output structure configuration (extension worm shaft, output
shaft of worm wheel, output flange and torquearm). If there is no
indication of I/0 components, means that it is not required.

S. Painting on outside shell: we paint size under 090 frame sizes of
WGMX series reducers with silver color. Reducers size over 090
painted with blue color as well as motors. Also we will paint according
to customer's request.

6. To select VYBO electric motors, we refer the motor specifications
notice to our catalogue of general purpose motor.

Vya0

HectricT




Address

VYBO ELECTRIC a. s. | tel: +421 944 105 361
Radlinského 18 | e-mail: mv@vyboelectric.eu
052 01 Spisska Nova Ves
Slovenska republika

www.vyboelectric.com

Vya0

EHectric

SOLUTIONS FOR INDUSTRY



BUREALU VERITAS

Certification

VYBO Electric a.s.
Radlingkého 18, 052 01 Spisska Nova Ves
Slovak Republic

Bureau Venitas Cartification Holding SAS — UK Branch certifies that (ke Management
System of ihe sbove organisafion has besn audited and found to be in accordance
with the requirements of the management system standards delailed helow

ISO 14001: 2015

Scope of certification

MANUFACTURE AND SALE OF ELECTRIC MOTORS. SALES AND DEVELOPMENT
OF VARIABLE FREQUENCY DRIVES.

Original cyele start date: 18.05.2022
Explry date of previous cycle: NIA

Certification Audit data: 31032022
Cerlification cycle start date: 18052022

Bubjact to the continued satisfactory operation of the organization's Management System, this
certificate expiras on: 17.05.2035

Carfiflcata No. 3K122 055E Varsinn: 1 Tssue date: 16.05.2022
Ly 2 [ & ]
Gerilicafion bociy etiipee: 5 Flnor, 65 Prescot Street, Landan £1 SHE, United Kingdam E @ H
aral offes: Plundrenskd 703, BRATISLAVA B21 09, Slovek Repubiic URAS
Pk
oo

Furtrer daflieabicns rapardng the ecope of this oordficesa nd the appiosRI of the maregemar] ystar
racuirements may L chilaned by vares ling e argarisatian,
T chack this corfesta vedly phmss sl ¢ 421 23541 4168

BUREAU FAuezrded to
YERITAS

Siousk Republic

EUREAL VERIIAS CERTISICATION ©F 11

Slandary

Certificate

VWYBO Electric a.s.

Radlinského 18, 052 01 Spitsks Nova Ves

rarifias tht the Mznageman: Sysiam of e above owanisatan 135
basn sudNed and leund 10 e 1 2etaianes: wih e mOUiGMEE of e Mansgamant aystan sisrdard delailed beioe.

Seapa of supply

12O 45001:2018

AND DEVELOPMENT

nginal Asproval Data

Expiry cate of previous aycls

Certification Cye'e Start Dake

Cartifzation Cyrke e aie

subject to the continued satisfasrary operston of the ciganisalion’s

Maragerment Systom, this carlifizate is valid uari:

=
O
=
(1]
(8]
=
&
Q
o
0
0
=
s
D
>
=
(0
[ab]
A
D
8]

Tocheck s cedifisats walidity please cell 1420 210002 216

requiremarts may be ohisined by

Tl

ing: tha organisatan

MANUFACTURE AMD SALE OF ELECTRIC MOTORS. EALES

OF VARIABLE FREQUENCY DRIVES,

18-05-2022
MNIiA

1B-05-2022
17-05-2028

17-08-2025

|
Furhor arificalions sgarding ihecszé‘;f of e cartfoate and e epplicabilily of the mansgamesnt system
sl

certifies that

VYBO Electric a.s.
V/¥20Y Radinsksho 18
St~ SK—052 01 Spisska Nova Ves
1GO: 45 537 143

has established and applies
a Quality Management System for

Manufacture and sale of electric motors.
Sales and development of variable frequency drives.

—
X
]
fre
=
-
]
=]
*
(=
=
=L
o
e
—_
-
wl
~
*
[
L4
=
=
<
=
[
[
o
o
*
A

An audit was performed, Report No. 2264/40/22/Q/AS/C
Proof has been furnished that the requirements
according to

STN EN ISO 9001:2016

are fulfilled. The certificate is valid from 2022-04-14 until 2025-04-13
Certificate Registration No. Q 2264-1

Bratislava, 2022-04-14
A
T /7 i
b

TUV SUD Slovakia s.r.0.
Certification Body for Management Systems
Member of Group TUV SUD

ZERTIFIKAT « CERTIFICATE #

Jafkova 6, 821 03 Bratislava FQ-01026

For it

Pape © atl
Wersizn 1 \As{ue Date. 19052022 7 8100
Certificate Mumbes GZF - 2200017
MENAT R (I BUREAU VERITAS GERTIISATION 57 <10 Glloashion | 106 16 rom 4 €7 R0l
ISELING OFFICT ADDAESS: BURELS UFRITAS CERTIFSATIN C2. 1 ., Olwech tavs |, 14012 Frahz £ Creck Sarohls
"
Certificate SK22/3701
SNAS
Reg. No. 153/Q-011 4 Thee renagerent system of
Skovakia
VYBOElectricas. =
W
CERTIFICATE e Somia 3
062 01 Spissici Nowa Vies, Siovakia '{‘po
» _SGS
P . . has been assessed and certified as meefing the requirements of
TUV SUD Slovakia s.r.o.
Certification Body for Management Systems EM So W m
Accredited by SNAS I " 18 a SNAS
Certificate on accreditation No. Q-011 —_—

Reg. No. 158/R-099

Production & sales of electric motors.
Sales & development of variable frequency drives.

Further i the scope of ths cartifical
of EN IS0 50001 be obtained by e
This certificate is valid from 7 April 2022 until € April 2025
and remeins valid subject to safisfactory surveillance audits.
Recertification audit due a minimum of 60 days
before the exgpiration date.
Issue 1. Certified with SGS since 7 April 2022

Authortsed by

Ing. Reéberl Bodnde

Director

SGSSovakiaspd sra

ysucka 14, 040 11 Kodice, Slovakia
4421 55 TEI61 11 14421 56 78361 20, wwwsgscom

Page ol 1

Ths dhrasmert & exmed by ha Covpary stgec o 5 Goneral Corcktors o
Coiabon Siniunn sxceesti o e, Cribarre o] oo Hn

iatity,
eeuns getatished Teman Th udlhenisly o 136 ocuTert ey b vl

[ e orian,
fergpay or sl of 1 contae o appeerencs of s et s il
e ffches oy beproseninai he ettt of e L



